




SAMPLE ANSWERS AND EXAMINER’S REPORT 

FALL 2019 EXAM 6U, QUESTION 17 
TOTAL POINT VALUE: 2.5 LEARNING OBJECTIVE: C2 
SAMPLE ANSWERS 
Part a: 1.5 points 
[1] Reinsurance Ceded Commission =  
Reinsurance commission ceded excluding contingent + Contingent commission ceded = 21,769 + 
180 = 21,949 
 
[2] Reinsurance Premium Ceded = Ceded WP to Affiliates + Ceded WP to Non- Affiliates = 1,073 + 
129,839 = 130,912 
 
[3] Ceding Commission Ratio  =  [1] = 17% 
                                                          [2]  
 
[4] UEPR Non-Affiliates (given in problem) = 66,006 
 
[5] Surplus Aid = [3] * [4] = 11,067 
 
[6] PH Surplus (given in problem) = 62,787 
 
IRIS Ratio 4 =     Surplus Aid  =   [5]  = 18% 
                             PH Surplus       [6] 
 
Outside usual range of values - usual range is below 15% 
Part b: 1 point 
[1] Adjusted Liabilities = Total Liabilities – Deferred and not yet due = 742,934 – 22,596 = 
720,338 
 
[2] Liquid Assets = Liquid Assets – Investment in Parent, Sub, & Affiliates = 688,592 + 15,539 + 
56,376 + 4,089 + 984 + 1,839 – 22,657 = 744,762 
 
IRIS Ratio 9 =   [1]  = 97% 
                          [2] 
 
Usual range for the ratio includes results below 100%.  Therefore, this result is in the usual 
range. 
 

EXAMINER’S REPORT 
Candidates were expected to have an understanding of IRIS ratios, including what information to 
utilize from an annual statement to calculate them.  Candidates were also expected to comment 
on the reasonableness of IRIS ratios for a given insurer.   
 
Part a  



SAMPLE ANSWERS AND EXAMINER’S REPORT 

Candidates were expected to identify the correct premium and commission elements from the 
annual statement to calculate the Ceded Commission Ratio and, as a result, Surplus Aid.  
Candidates then needed to calculate IRIS Ratio 4 and comment on its reasonableness.   
 
Common errors included: 

• Failure to include both Reinsurance Ceded Commission elements when calculating Ceding 
Commission Ratio 

• Failure to include both Reinsurance Premium Ceded elements when calculating Ceding 
Commission Ratio 

• Including Ceded UEPR – Affiliates in the calculation of Surplus Aid 
• Incorrect usual range used in determining reasonableness of IRIS Ratio 4 calculated  

 
Part b 
Candidates were expected to identify the correct asset and liability elements from the annual 
statement to calculate Adjusted Liabilities and Liquid Assets. Candidates then needed to calculate 
IRIS Ratio 9 and comment on its reasonableness.   
 
Common errors include: 

• Failure to subtract Deferred Assets from Total Liabilities when calculating Adjusted 
Liabilities 

• Subtracting uncollected premium (15.1) from Total Liabilities 
• Failure to subtract Investment in Parent, Sub, & Affiliates when calculating Liquid Assets 
• Failure to include all the needed line items when calculating Liquid Assets 
• Incorrect usual range used in determining reasonableness of the calculated IRIS Ratio 9 

 
 

FALL 2019 EXAM 6U, QUESTION 18 
TOTAL POINT VALUE: 2.75 LEARNING OBJECTIVE: C2 
SAMPLE ANSWERS 
Part a: 0.25 point 
Sample 1 
The company’s RBC Ratio is between 200% and 300% and its combined ratio is greater than 120% 
 
Sample 2 
The combined ratio of 125% is greater than 120% 

Part b: 2 points 
Sample 1 
285% = 18m / ACL  ACL = 6,315,789 
RBC = ACL x 2 = 12,631,578 
12,631,578 = 0 + (300,000^2 + R2^2 + 500,000^2 + 10,000,000^2 + 1,000,000^2)^.5 
7,629,992 = Current R2 
 
300% = 18m / ACL  ACL = 6m  RBC = 12m 


